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Probability Ex 31.1 Q1
The sample space & = {1,2,3,4,5,6,7, 8 9,10}

Let,
A =Mumber on the card drawn is even number

A =1{2,4,6,8, 10}
& = Mumber on the card greater than 4
g = {4,5,6,?,8,9, lEl}

A B ={4JE|,B,1EI}

P{,q]= ACEY:)

n (&)

|

Required probability = ;
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Let & and g represent the boy and the girl child respectively. If a family has two
children, the sample space will be

S = {{b, b), (b, @), (g, &), {q. q)}

Let A& be the event that both children are girls.
~A=i(g )
(i Let B be the event that the youngest child is a girl.

~B=[(hg).(2.2)]

The conditional probahility that both are girls, given that the youngest child is a girl,
is given by P {A|B).

l
P{A~B )
PI[:"LEBJ: [ ]:-1_1

P(B) 1 2

-

1
Therefare, the required probahbility is o

Ee
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A = Two numbers on two dice are different
= {{1.2), {12}, (1, 4).{1.5). (1. 8)
(2,1),{2,3). (2, 4).({2,5).(2.6)
(3,1),(3,2).(3,4).(3.5). (3. 6)
(41),(+.2).{4.3).{4.5). (4 6)
(5.1, (5 2).(53). (5. 4).(5 6)
(6,1),(6.2),(6,3).(6, 4}, {6, 5)}

& = Sum of numbers on the dice is 4

8 ={{13).{2,2), (3.1}
Ang={f1,3),(3 1)}

Required probability = F [%]
_nf{4n~8)
- n{4)
-2
30

. . 1
Reqguired probahkility = —
q p i 1t



{iin Let C be the event that at least one child is a girl.

2 C={(h g).(g b).g. g)}

The conditional probability that both are girs, given that at least one child is a girl, is
given by P{A|C).

1
- P{ANC ;
Therefore, P(A | C)=— Aant )_a_!

Probability Ex 31.1 Q4

A = Head on the first two toss on three tosses of coin
A = {HHT, HHH)

&
&

Getting ahead on third toss
{HHH, HTH, THH, TTH)

A B ={HHH}

Fequired probability =# [%J

n{4n~8)
n (4)

Required probability %
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A = 4 appears on third toss, if a die is thrown three times
={{LL4), {12, 4),(1,3,4),{L 4 4),{L54),[{1,6,4)
(2,1,4),(2.2,4), (2,3, 4), (2. 4.4) .[2,54). (2.6, 4)
(3.1, 4),{3,2,4),(3.3,4). (3. 4, 4),(3,5 4).[3.6, 4)
(4,1,4),{4.2,4).(43,4),(4,4,4),[4,54),[4.6,4)
(5.1,4),(5.2,4),(53,4),[5 4 4).[554), (5.6, 4]
(6,1,4).(6,2,4),(6,3,4),{6, 4 4), (6,5 4), (6.6, 4)}

& =6 and § appears respectively on first two tosses, ifdie is tosses three times
g ={(s,5,1),(6,5,2),{6,53),(6,5 4),{6,5,5),(6,5,6)}

An8 =|{(s,5 4]

Required probahility

]
gl
P
m| 3
e —

| =

Required probability
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Given, #[(8)=0.5 P[{A~n8)=0.32

We know that,
5 [ij ) r.-[A mS]
E ."'.'[:.5:]
_ 0.32
0.5
_ 32
50
_ 18
25

plA]-18
B)” 25
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Given, £ [A] =0.4, F [S] =03 and # [%] =0.5

We know that,
P[E]= PlAnB)
A F{A)
CEY:)
0.4
PlA~E)=05x04

0.5=

pla~g)=02

[g] 7 [;1{;}5]
_oz2
3
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Given, P[A]=%,P[B]=%,P[AUB]=%

We know that,
PlAave)=prlA)+F(B)-P(AnE)

M_L,1 pians)
30 32 &
1 1 11
PlAnBl=Z+=-—=
3 5 30
_10+6-11
a0
5
T30

b
|

[T I (R wl o]

(5)-5(5)-3
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Given, Couple has twao children.

(0

(i)

A =Both are male

A = M)

E = atleast one is male
g = {M1M2JM1F2: F1M2}
A B = M)

]=n[:a4r~.5:]

n(8)

A =Both are Females
A=A}

E = Elder child is ferm ale
B = {FiMy, FiFs)

A B ={FF)

A _n[AmS]
P[EJ‘W
1
)





